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Different Concepts of NATIONAL INCOME

[Gross Domestic ProductJ

Gross domestic product (GDP) is a measure of the market value of all final
economic goods and services, produced within the domestic territory of a

==

country during a given time period.

It includes the value of goods produced, such as houses and mobiles, and the
value of services, such as telecom, health, insurance.

The output of each of these is valued at its market price, and the values are
added together to get GDP.
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GAPS BETWEEN THE NOMINAL AND REAL GDP
Real GDP (2011-12 prices) and Nominal GDP (at current prices) in Rs. Lakh cr
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, Bose yeor
Real GDP or Gross Domestic Product (GDP) at Constant (2011-12) Prices in Q1 2022-23
is estimated to attain a level of X 36.85 lakh crore, as against X 32.46 lakh crore in Q1

2021-22, showing a growth of 13.5 percent as eempared-to20-1-percentin Q1202122
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ILLUSTRATION 1
Find out GDP Deflator? Interpret It

(In Billion Rs.)
Years Nominal GDP Real GDP GDP Deflator
2014 500 500 100
2015 800 650 123.08
2016 1150 800 143.75 = H'Jhe“t
2017 1300 950 136.84
2018 1550 1190 130.25
2019 1700 1240 {27810

GOP Oeflator > 10D, #hic ndicates thab
Pl‘ice leveh has ~ Tncreased  aw Comj)ared, to the
Dase :)mf.

ILLUSTRATION 2

The nominal and real GDP respectively of a country in a particular year are 3000 Crores and
T 4700 Crores respectively. Calculate GDP deflator and comment on the level of prices of the
year (n comparison with the base year.

GiDP deflator = 3000 x100 . 63.83
4700

The f:)rice level hay Lolle,n Qine (1OP de}lc.‘ror % less Mon
L0,



ILLUSTRATION 3 J|oo P
Find nominal GDP if real GDP = 450 and price index = 120

(0P dezflq‘ror

Nominal GOP - 1450 4 120
100

= 540

0P de‘PMOI'\NORmDJ %100

(0P de.flo’rm % Keed GOP = Nomind GOP
100

ILLUSTRATION 4
hoP

Suppose nominal &P of a country in 2010 is given at 600 Crores and price index (s given as
base year 2010 is 100. Now let the nominal GDP increases to ¥ 1200 Crores in 2018 and the

price index rises to 110, find out real GDP?

Nomina GOP Price. Index- GOP def

Bostwr 2010 éoocr. . 1],
018 . 100 Cr. 110

Real GiOP o Qoio- 600 cr

= Keal GOP oL 2018 = 1200¢r. x 100
110
> 21090.9 cr.
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Multiple Choice Questions

1) _________ Is a measure of the market value of all final economic goods and
services, produced within the domestic territory of a country by normal

residents during an accounting year including net factor incomes from abroad.

b’;}f\’; GIDP +NFIAR

c) NDP
d) NNP

2) If Net Factor Income from Abroad is positive, then GNP would be

J
Eenter FFIF -BTR GNP 7 GiDP

————

>
b) Lower 60 o
c) Equal
d) Can’t say
3) ____ Is a measure of the market value of all final economic goods and

services, produced by normal residents within the domestic territory of a
country including Net Factor Income from Abroad during an accounting year,
excluding depreciation. v
a) GDP » -N-..'.\.‘I.P
b) GNP
NP
d) NDP x




Ind. D&P MP & FC FC + 9nd. :fCIX -%ub = MP

4) Gross Domestic Product (GDP) of any nation
a) excludés capital consumption and intermediate consumption

M inclusive of capital consumption or depreciation

g) is inclusive of indirect taxes but excludes subsidies
| d) None of the above

5) Gross National Product at market prices él\ils ' Mp IS
,afGDP vwe + Net Factor Income from Abroad

bf GDP vp - Net Factor Income from Abroad

c/*GDP wr - Depreciation N= O + NP
df'GDP_r::_+ Net Indirect Taxesy

6) The basis of distinction between market price and factor cost is
a)’”net factor income from abroad

net indirect taxes (i.e., Indirect taxes - Subsidies)
c)met indirect taxes (i.e., Indirect taxes + Subsidies)
drdepreciation ( consumption of fixed capital)

\
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| 7) The GDP per capita is

(a) a measure of a country's economic output per person v/
(b) actual current income receipts of persons A

(c) national income divided by population./
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NDP¢c 8000
NFIA 200 +
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_ILLUSTRATION 5

v / ¢
From the following data, calculate NNPrc, NNPmp, GNPmp and GDPwmp.
Items ¢ tn Crores
Operating surplus — cht.ﬂntgfarop 2000~
Mixed income of self-employed - 1100
Rent ‘X 550
Profit x 800
. (ndirect tax 450
Consumption of fixed capttal - DGP' 400
Net factor income from abroad -50
Compensation of employees‘waﬂen 1000
/7 Y, _
. NINPed = 2000 +1100 =50 +1000
= Ho50

2. NINPwp = NNPec +Indiret Toxe —Subsidj

- YoSo + 430

> HSoD
3 GNPwe = NNPwp  + De,p

- Y500 + Yoo

4900

4. GOPwe - GNPwe - NRA = 4400 -(50) = Y450




ILLUSTRATION 7 i

Calculate the aggregate value of depreciation when the GDP at market price of a country in a
particular year was ¢ 1,100 Crores. Net Factor Income from Abroad was ¢ 100 Crores. The value
of Indirect taxes — Subsidies was ¢ 150 Crores and National Income was 850 Crores.

GOPwp - 10O NAA= 100, NIT- 150
NNPre = 85D

Ql_QPrqP = NNPFc. + De, NFI + NIT
100 = 850 +Oe -100 +|60

DGP = 3200 cmm
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ILLUSTRATION 6

From the following data, estimate National Income and Personal Income.

Items ¢. tn Crores
Net national product at market price 1,891
Income from property and entrepreneurship accruing

to government administrative departments (,45)
Indirect taxes fﬂanm 175
Subsidies -Sanom 30
Saving of non-departmental enterprises v ( 10)
Interest on National debt — —I_\"amfar 3nwn‘|a + 15
Current transfers from government - Transfur Jnome - 4+ 35
Current transfers from rest of the world + 20
Saving of private corporate sectgrp\c?c;?ﬁ‘ij"a, 25
Corporate profit tax 25

Na¥onal Jnwme = NNPup  — Indirect Taxes + Subsidic
[NNPre) = 1841 - 115+ 30
= 746

Private ﬁnwrne = NNPre
= |46 -Us -10 +15 +35+20
Private Jnume = 1761

Bus‘i’mss - (Pf‘OLliJ |00 - NGHOI’lﬂl Qm,ome

Privalt Sector / \\

niome Ovidend ~ Rebained ~ Tax
Yo 2D 4o Qorjb




Personal Gnwome = 1746 -45-10 +15+35 +20-25-25
Houschold. = 2111

ILLUSTRATION 8
On basis of following information, calculate NNP at market price and Disposable personal income

Items ¢ in Crores

NDP at factor cost -(DOH’I%HQ 3”‘”‘”3 14900
Income from domestic product accruing to government (750)
Interest on National debt "ﬁ'amt&r fnwme 47170
Transfer payment by go vernment + 60
Net private donation from abroad - Tram[tr + 30
Net factor income from abroad + 80
Indirect taxes ~J N nore 315
Direct taxes — pGISODG\ ﬂnwme TO,X 100
Subsidies fﬂanom 262
Taxes on corporate profits </ ( 222)
Undistributed profits of corporations (' 105 J

NNPup = Néprc + NFIA + Indiredd Tax -Sub.SIcij
- 1yqoo + 80 + 335 - 26D
= [5053
NDPrc |
"Personal _ 14900 -150 + 110 +60+30 +80 -222-105
Inme = 14763

‘VPerson al - 14763 — 100
DfsPosobk 3nwrnc = U663



’gﬂa- COlC,ulotC. u] prruo'tﬁ ﬂnwrﬂ& (n)(persond nwmeé g/

UII] ?ersonal DISPOSGb]G lm,ome,

3T
Natfonal  Jnome - NNPec 3000
Sa\nn S Ob Pruvajrc cmPorak Qechor - A0
Cbr]’.‘lorujre Tox - 80
Currnb tmmfm om  (j1ovC. 60
Inome %rom tml:)era £ entre nncursh:r) t0 Guovl 150
Curreit’ tro L&B from Tca’G of the world 50
SO\H“A l) NOf)- Oleporhncnbal 38\113 Seo\'nr ST,
Neb Tndivedt’ Taxes 250

Dlre,o"b Toxe ’Pcﬁ'd by houehold 100
Net })d,dm hwone Lrvm Gbroad Clo)

1] Private. Gncome
— 3000 + 60--150 +50 -4p
= 22920

2] Pers onal anmrno_- 2920 -30 -8o
AB10

3) ?ersona\ Df's?esoy Intome = B0 — (00
= J110

------------------------------------------------------------------------------



8) Personal income excludes:

(c) Personal Tax
(d) Current transfers

\ 3Personal income

b) private income

c) personal disposable income
d) None of the above

personal income?
Transfer payments to individuals
(b) Undistributed profits of corporate
(c) Transfer payments made to foreigners
(d) Mixed income of self employed

9) Total income of households from all sources is known as:

10) Which of the following is added to national income while calculating

NNPec
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Data requirements and Outcomes of Different Methods of National Income Calculation

Method

Data required

What is measured

Phase of Output: Value
added method (Product
Method)

The sum of net values added by all
the producing enterprises of the
country

Contribution of production
units

Phase of income: Income
Method

Total factor incomes generated in
the production of goods and
services

Relative contribution of
factor owners

Phase of disposition:
Expenditure method

Sum of expenditures of the three
spending units in the economy,
namely, government, consumer
households, and producing
enterprises

Flow of consumption and
Investment expenditures




1 Valve added Method or /prodoot Method.
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ILLUSTRATION 9

Calculate National Income by Value Added Method with the help of following data-

Particulars ¢ (in Crores)
Sales v 700
Opening stock ~ 500
Intermediate Consumption _350
Closing Stock v’ 400

Net Factor Income from Abroad ~ 30
Depreciation - 150
Excise Tax— — 170
Subsidies 50

GiVAMe = Valve OL Ou’rl:)ut - Intermediate cons.

GiDPme
NNPe

[ 700 -500+40) - 350
= 50

= G'IDPH_IP ""DG + NFIR ~-9ndiret Tax + Subs

= JS0-150 '+30-110+50

= T30 Clrore

J



ILLUSTRATION 11

Calculate national income by value added method.

Particulars (Z in crores)
Value of output in prinmctor v 5@_0_
Intermediate consumption of primary sector 200
Value of output of secondary sector - 2800
Intermediate consumption of secondary sector 800
Value of output of tertiary sector -~ 1600
Intermediate consumption of tertiary sector 600
Net factor income from abroad - -30
Mindirect taxes 300
Depreciation 470

GDPw - (009 -200) + (2300 -800)+ (l600-6oo)

: ng 008 Vﬂmp i ?ﬂmm\\l

NNPe - U800 — Y410 = 20 -300

=24 000




ILLUSTRATION 12

Calculate Net Value Added by Factor Cost from the following data

Items

Purchase of matertals
Sales

Depreciation
Opentng stock
Closing stock

Excise tax -~

Intermediate consumption

Subsidies

Gvame =(Y450 +3D -40) —

A40
NVAre = GvAmwe - Dk
> 40 - 30-ug

Z 180 Croms.-

-
=

< in Crores
85

— 450

30

40

30

45

200
=

00

F -Ind Tax + Subsi
+ 1S

Tnbermediale cons.
l?lreod Theludes

Puchase OL |”la’raiol

J



ILLUSTRATION 10 Rens. Int, Profib
Calculate the Operating Surplus with the help of following data-

Particulars ¢in Crores
Sales = 4000
Compensation of employees ~ 800
Intermediate consumption - 600

Rent 400
Interest 300
Net indirect tax - — 500
Consumption of Fixed Capital - Dﬁl:* 200
Mixed Income 400 _

NP = Q‘Jm]:l oL em}alodot;q ,,x;*f%fﬁ;el? EeleF

- 10Pmp = Yooo - 600

- 3Ypo
NOPee - 3400 - 200 -500
= 2100

S, 2100 o0 + Op Sup + Hoo
OF Qurp - 1500

iiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiii




Home works -

Calculate ‘Sales’ from the following data :

Particulars % in Lakhs
Subsidies 200
Opening stock 100
Closing stock —600
Intermediate consumption 3,000
Consumption of fixed capital/\O?-F 700
Profit 750
Net value added at factor cost 2,000

GiVAmP = NVAFc + Dep + Indbax -Sub.
N > Jdo00 + oo + O -J00

= 500
Qvﬂ'.«w Volue o Ou u‘|3

9;500 N [Salea + (Cha Il’) S‘h)o ] ﬂntcm]e.d (ONs
2500 = Saleo + 6oo -100 - 300D
Sales - F5000
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/dLUSTRATION 13

Calculate NI with the help of Expenditure method and income method with the help of following
data: - NNPF".

Items ¢ in Crores
Compensation of employees v 1,200 s
Net factor income from Abroad # 20 |
Net (ndirect taxes » —120
Profit - 800
Private final consumption expenditure -~ 2,000
Net domestic capital formation 770
Consumption of fixed capital - — 130
Rent 400
Ireada
Interest 620 ‘..:: 3no | ! cl ed
Mixed income of self-employed - 700 i=
Net export 30
Govt. final consumption expenditure 17100
Operating surplus 1820
Employer’s contribution to social security scheme 300

Tncome P‘]d’nod» -
NDOPrc - 1200 + 1320 +7100
= 3730
Nahonal Inome= 3120 +<o = STHD
NNPre -

&P. Method G1D0Pwp = Kooo +T10+130+ 30+ 110D
= - 403D
N NPrc > 4030 130 +40-120 = 3@




ILLUSTRATION 14 Y,

From the following data calculate (a) Gross Domestic Product at Factor Cost, and (b) Gross
Domestic Product at Market price

Items v in Crores

Gross national product at factor cost A 61,500

Net exports (-) 50
Compensation of employees —= 3000

Rent - 800

Interest 900

Profit 1,300

Net indirect taxes - 300

Net domestic capital formation 800 O@
Gross domestic capital formation 900) I00- P
Factor income to abroad 80

Inque P’}ci__’rhgd.
ND?FQ . 3000 + 800 +900 + 1300

= 26000
Gi0OPrc = NDPec -l-DelD
> poop +100
= J6100
GIOPMQ . 510Pxe + Ind fax - Qub
- 6100+300

- Fhug



ILLUSTRATION 15

Calculate NNPkc. By expenditure method with the help of following information -

Items < in Crores
Private final consumption expenditure ~ 10
Net Import E&Por\: -3m]:>3 C0) 20
Public final consumption expenditure 05
Gross domestic fixed capital formation - 350
Depreciation 30
Subsidy 100
Income paid to abroad 20
Change (n stock ~ 30
Net acquisition of valuables 10

GO Pwe [’5%5-&0 +05 + 350 +30+10

NNPre = 335 —30-20 + 100

---------------------------------------------------------------------------------------------------------------------------------------------------------------



Calculate Gross Domestic Product at market Prices (GDPwmp) and deriv
national income from the following data (in Crores of %)

Inventory Investment + 100
Exports —+ 200
Indirect taxes 100
Net factor income from abroad - 50
Personal consumption expenditure ., —+ 3500
Gross residential construction investment + 300
Depreciation = 50

Imports — 100
Government purchases of goods and services —” —+ 1000
Gross public investment + 200
Gross business fixed investment -+ 300

G‘IDPMP-'-' 25500
NNPec - GDPwe - D

+NFIR = NIT

> 5500 -50 -'50 - 100

= %5300




S /

Find GDPwe and GNPwe from the following data (in Crores of ) using income
method. Show that it is the same as that obtained by expenditure method.

Personal Consumption + 7,314
Depreciation ./ 800
Wages + 6,508
Indirect Business Taxes 1,000
Interest 4 1,060
Domestic Investment 3+ 1,442
Government Expenditures 4+ 2,196
Rental Income + 34
Corporate Profits 4~ 682
Exports + 1,346
Net Factor Income from Abroad ~ 40
Mixed Income "l‘ 806
Imports - 1408

Tnoome P"o‘r?wdﬁ
@DPNP* NDPee + De

= NDPr-c. 7 ?qOQO

+ NIT

. 9090 + Bob + 1000

= 10890

GinNPmp = :0Pme + NFIR

10890 +40
310930

M\




ExPend\hrc r’)cj_—__%:gd.

GiOPpyp - 10840
(NP MP- 10890 + 40O
= 10930




11) The concept of ‘resident unit’ involved in the definition of GDP denotes
(a) A business enterprise which belongs to a citizen of India with production
units solely situated in India X

Me unit having predominant|economic interest|in the economic territory

of the country for one year or more irrespective of the nationality or legal
status

(c) A citizen household which had been living in India during the accounting
year and one whose economic interests are solely in India X

(d) Households and business enterprises composed of citizens of India alone

S —
living in India during the accounting year X

12) Read the following statements and answer the following question.
l. Intermediate consumption consists of the value of the goods and services

consumed as inputs by a process of production, v’

IJ. Intermediate consumption excludes fixed assets whose consumption is

recorded as consumption of fixed capital. v’

(a) Only I is true

(b) Both | and Il are true\/
(c) Only Il is true

(d) Neither I nor Il is true

13) Which of the following does not enter into the calculation of national
Income?

(a) Exchange of previously produced goods

(b) Exchange of second hand goods

(c) Exchange of stocks and bonds

(d) All the above ,




N Prcf:{iz Mob- ‘gg _Value add

150 - 0ul>|auf

14) Read the following statements
l. “‘Value added’ refers to the difference between value of output and
purchase of intermediate goods. v/

ll. “‘Value added’ represents the contribution of labour and capital to the

production process.

(a) Statements | and Il are incorrect

(b) Statements | and Il are correct \/

(c) Statement | is correct and Il is incorrect

(d) Statement Il is correct and | is incorrect

#

15) Non-economic activities are

(a) those activities whose value is excluded from national |)r§come calculation
as it will involve double countiﬁg— Internedioke

\.}M those which produce goods and services, but since these are not
exchanged in a market transaction they do not command any market value
(c) those which do not involve production of goods and services as they are
meant to provide hobbies and leisure time activities

(d) those which result in production for self consumption and therefore not

included in national income calculation

16) Which of the following enters into the calculation of national income?

¢
(a) The value of the services that accompany the sale v Cchonge 10
< shdR

#5) Additions to inventory stocks of final goods and materials v
(c) Stocks and bonds sold during the current year - Finanaol Jrans.

'\,ﬂd’),(a) and (b) above




17) National income using the below data is:
1 | Personal Income 8000
2 | Mixed Income of self employed + 2000
3 | Compensation of employees 4+ 1600
4 | Net-factor Income from abroad ~ 200
5 | Rent -+ 1500
6 | Personal Income Taxes 800
7 | Profit —+ 1400
8 | Consumption of fixed capital 600
9 | Direct taxes paid by households 900
10 | Non-Tax Payments 1000
11 | Net Indirect taxes 700
12 | Net Exports Taxes -180
13 | Interest — 1100
NOPee = 1600
a) 6300 NNPr¢ > 1600~ 200
| by 7400 * 400
c) 8200
d) None of the above




i

18) Operating Surplus using the below data is:
Particulars < (In Crore)
Sales 4,000
Compensation to employees 800
Intermediate consumption v’ 600
Rent —400
Interest —300
Net indirect taxes - 500
Consumption of fixed capital «* 200
Mixed income 400

OPwp = 4000 — 600 )
a) 800 G] L HOD — ND P 3'100-200-“0
1 bYy1s500 . :
) 700 NDPF'C = CDmP —+ @P guy‘) + '\(llx&d INC-
C
d) 1200 Q100 = 800 + Op +Yeo
OF S'“P" 150




19) Domestic Income using the below data is:

Particulars X crore
(i)  [Sales by firm B to aeneral aovernment - ~300]
(1) |Sales by firm A 1500
(i) [Sales by firm B to households 1350[
(lv) |Change in stock of firm A 200
(v) |Closing stock of firm B ] r140
(i) |Opening stock of firm B 130
(vii) |[Purchases by firm A 270
(vill) |Indirect taxes paid by both the firms 375
(IX) [Consumption of fixed capital n" 120
Sales by firm A to B G‘Imdjﬂnd i 300
a) 1,995
M%
c) 1,295

d) None of the above

R )

\

VOIUi @L OU"Put -'gﬂterﬂlul CDnsumJ,
Sales + Oharzje,in 3ok

= |500+d00 — 770
= 430

2 _

HmB = 1650+10 — 300
> 1360

GiOPme- 1430+ 1260 = 22190
NDPe¢c = 2190—-120-315 > 1695

iiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiii



Which Method is more suitable?

* Ideally, all the three methods of national income computation should
arrive at the same figure.

e Each method of measuring GDP is subject to measurement errors and
each method provides a check on the accuracy of the other methods.
By calculating total output in several different ways and then trying to
resolve the differences, we will be able to arrive at a more accurate

measure than would be possible with one method alone.
e Moreover, different ways of measuring total output give us different

insights into the structure of our economy.

Income method|may be most suitable for|developed economies| where

people properly file their income tax returns.

With the growing facility in the use of the commodity flow method of
estimating expenditures, an increasing proportion of the national income is
being estimated by expenditure method.

Most suitable method for INDIA?
As a matter of fact, countries like India are unable to estimate their

national income wholly by one method.

Thus, in the [agricultural sector] net value added is estimated by the

production method| in thesmall scale sector|net value added is estimated

by the|income method|and in the|construction sector|net value added is

estimated by the |[expenditure method




NATIONAL INCOME ACCOUNTING

National Income Accounting, pioneered by the Nobel prize-winning

economists Simon Kuznets and Richard Stone E N

It is the system of macro-economic accounts
from the stage of production of goods and
services to the stage of their final disposal.

National Accounts help us to understand how the various
transactions from the stage of production of goods and services to the
stage of their final disposal are interrelated and give us an idea of the

working of an economy.

It helps to meet the needs of Government, private analysts, policy makers
and decision takers.

The Central Statistical Organisation (CSO) in the Ministry of Statistics and
Programme Implementation (MoSP&l) is responsible for the compilation of
National accounts statistics.

At the State level, State Directorates of Economics and Statistics (DESs) have
the responsibility of compiling their State Domestic Product and other aggregates

-----------------------------------------------------------------------------------------
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THE SYSTEM OF REGIONAL ACCOUNTS IN INDIA

Regional accounts provide an integrated database on the innumerable

transactions taking place in the regional economy and help decision making at the

regional level.

At present, practically all the states and union territories of India compute state

iIncome estimates and district level estimates.

State Income or Net State Domestic Product (NSDP) is a measure in
monetary terms of the volume of all goods and services produced in the state
within a given period of time (generally a year) accounted without duplication.

Per Capita State Income is obtained by dividing the NSDP (State Income) by the

midyear|projected population of the state.

In the preparation of state income estimates, certain activities such

as railways, communications, banking and insurance and central government
administration, that cut across state boundaries, and thus their economic
contribution cannot be assigned to any one state directly are known as the

‘Supra-regional sectors’ bf the economy.

The estimates for these supra regional activities are compiled for the economy as
a whole and allocated to the states on the basis of relevant indicators.




USEFULNESS AND SIGNIFICANCE OF NATIONAL INCOME ESTIMATES

Businesses tol forecast the future demand for their productsl

The estimates of national income show the composition and structure of
national income in terms of different sectors of the economy, the periodical
variations in them and the broad sectoral shifts in an economy over time.
Sectoral contribution to National Income information is used by the
government to decide various sector-specific development policies to increase
growth rates.

National income statistics also provide a quantitative basis for macroeconomic
modelling and analysis, for assessing and choosing economic policies and for
objective statements as well as evaluation of governments’ economic policies.
National income estimates throw light on income distribution and the possible
inequality in the distribution among different income categories . It facilitates
the process of comparisons of structural statistics, such as ratios of
investment to growth , taxes proceeds and fiscal deficit, or government

expenditures to GDP.

International comparisons in respect of incomes and living standards assist in
determining eligibility for loans, and/or other funds or conditions under which
such loans, and/ or funds are made available.

Combined with financial and monetary data, national income data provides a

guide to make policies for growth and inflation.




GDP & WELFARE

Can the GDP of a country be taken as an index of the welfare of people in
that country?

There are many reasons to dispute the validity of GDP as a perfect measure of well-
being. In fact, GDP measures our ability to obtain many requirements to make our life
better; yet leave out many important aspects which ensure good quality of life for all.
GDP measures exclude the following which are critical for the overall wellbeing of

citizens:

* Income distributions and, therefore, GDP per capita is a completely inadequate
measure of welfare. Countries may have significantly different income distributions
and, consequently, different levels of overall well-being for the same level of per

capita income.

 Quality improvements in systems and processes due to technological as well as

managerial innovations which reflect true growth in output from year to year.

* Productions hidden from government authorities, either because those engaged in it

are evading taxes or because it is illegal (drugs, gambling etc.).

* Non market production and Non-economic contributors to well-being for example:
health of a country’s citizens, education levels, political participation, or other social

and political factors that may significantly affect well- being levels.

* The disutility of loss of leisure time. We know that, other things remaining the same,

a country’s GDP rises if the total hours of work increase.
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Economic 'bads’ for example: crime, pollution, traffic congestion etc which
make us worse off.

The volunteer work and services rendered without remuneration undertaken in
the economy, even though such work can contribute to social well-being as
much as paid work.

Many things that contribute to our economic welfare such as, leisure time,
fairness, gender equality, security of community feeling etc,,

Both positive and negative externalities which are external effects that do not
form part of market transactions

The distinction between production that makes us better off and production
that only prevents us from becoming worse off, for e.q. defence expenditures
such as on police protection. Increased expenditure on police due to increase in
crimes may increase GDP but these expenses only prevent us from becoming
worse off. However, no reflection is made in national income of the negative
impacts of higher crime rates. As another example, automobile accidents result
in production of repairs, output of medical services, insurance, and legal
services all of which are production included in GDP just as any other
production.




LIMITATIONS AND CHALLENGES OF

NATIONAL INCOME COMPUTATION

There are innumerable limitations and challenges in the computation of national
income. The task is more complex in underdeveloped and developing countries.
Following are the general dilemmas in measurement of national income.

There are many conceptual difficulties related to measurement which are difficult
to resolve, such as:

(a) lack of an agreed definition of national income,

(b) accurate distinction between final goods and intermediate goods,

(c) issue of transfer payments,

(d) services of durable goods,

(e) difficulty of incorporating distribution of income,

(f) valuation of a new good at constant prices, and

(g) valuation of government services

Other challenges relate to:

(a) Inadequacy of data and lack of reliability of available data,

(b) presence of non-monetised sector,

(c) production for self-consumption,

(d) absence of recording of incomes due to illiteracy and ignorance,
(e) lack of proper occupational classification, and

(f) accurate estimation of consumption of fixed capital
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